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Perimeter

The perimeter is the distance around an object.
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Perimeter of a Circle 75 (9(S

Also known as Circumference
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Perimeter -2 -

Find penimeter
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ex Bike wheel has a radius of 25 cm.
(a) Find the circumference of the wheel
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(b) How far will the bike go when the
wheel makes 1 turn?
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(¢) How far will the bike travel after
~ 8 complete tums?

EXIS7= \ASEcnA

(d) If the bike travels 1 km (= 100 000 ¢cm)
how many complete turns did the wheel
make?
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(a) 157.07 em
(b) 157.07 em
(c) 1256.6 cm
(d) 636 or 637 turns
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ex (a)Find the missing side(s) ~
(b) Find the pennmeter S 7
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(a) ? = 20.4-14.7
= 2.1
77 =82-56
=2.6

(b) P = 82+5.7+14.7+5.6+20.4
= 54.6



